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https://www.100test.com/kao_ti2020/142/2021_2022_CCIE_E5_AE

_9E_E9_AA_8C_c101_142396.htm Lab 02 - Policy Routing The

following scenario refers to the diagram below. Scenario: All routers

are configured in a single OSPF area. Router_C, based on the cost

metric for OSPF will send all packets with a destination network

address of 10.4.0.0 out the E0 interface. Problem: Have all packets

destined for network 10.4.0.0 exit the Serial 0 Router_C.

Router_C#sh ip route Codes: C - connected, S - static, I - IGRP, R -

RIP, M - mobile, B - BGP, D - EIGRP, EX - EIGRP external, O -

OSPF, IA - OSPF inter area, N1 - OSPF NSSA external type 1, N2 -

OSPF NSSA external type 2, E1 - OSPF external type 1, E2 - OSPF

external type 2, E - EGP, i - IS-IS, L1 - IS-IS level-1, L2 - IS-IS

level-2, * - candidate default, U - per-user static route, o - ODR

Gateway of last resort is not set 10.0.0.0/16 is subnetted, 3 subnets C

10.2.0.0 is directly connected, Serial0 C 10.3.0.0 is directly

connected, Ethernet0 O 10.4.0.0 [110/74] via 10.3.0.1, 00:00:13,

Ethernet0 100Test 下载频道开通，各类考试题目直接下载。详

细请访问 www.100test.com 


